

Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

D (D E (
Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
April 2023 (NIL)	Name of Event		
	Location of Event		
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)		
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ -



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
, ,			Cost
May 9, 2023	Name of Event	Literacy NS Spring Gala	
	Location of Event	Casino Nova Scotia	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	22	\$ 12.69
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 12.69



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Datas Da Farast			
Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
May 11, 2023	Name of Event	Nursing Announcement	
	Location of Event	Wolfville, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	186	\$ 107.32
	Parking Rate		
	Taxi Rate		·
	Other Miscellaneous Expenditures		·
		TOTAL PER EVENT	\$ 107.32



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
, ,			Cost
May 11, 2023	Name of Event	NSCAD Student Awards	
	Location of Event	Halifax, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	24	\$ 13.85
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 13.85



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Detec By Event				
Dates By Event	Subject (By Event)	lufa was ati a sa	١,	S4
(Month, Day, Year)	Subject (By Event)	Information	•	Cost
May 14, 2023	Name of Event	Community Leadership Program for New Immigrants		
	Location of Event	Halifax, NS		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	36	\$	20.77
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	20.77



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
May 15, 2023	Name of Event	Acadia University Convocation	
,	Location of Event	Wolfville, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	186	\$ 107.32
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 107.32



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

			_	
Dates By Event				
(Month, Day, Year)	Subject (By Event)	Information	C	ost
June 1, 2023	Name of Event	Access Awareness Scholarship		
Julie 1, 2023	Name of Event	Luncheon		
	Location of Event	Halifax, NS		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)			
	Parking Rate			
	Taxi Rate		\$	25.19
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	25.19



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information		Cost
(WOITH, Day, Teal)	Subject (by Event)		'	COSL
June 4, 2023	Name of Event	Visit NSCC Burridge Campus re long- term care facility setup as a result of wildfires		
	Location of Event	Yarmouth, NS		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	212	\$	122.32
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	122.32



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event	Subject (Dy Frent)	Information	04
(Month, Day, Year)	Subject (By Event)	Information	Cost
June 8, 2023	Name of Event	NSCC Pictou Campus Convocation and Tour of NSCC Pictou Housing Project	
	Location of Event	Pictou, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Breakfast and Lunch per diems	\$ 23.00
	Mileage Rate - (\$0.5770)	312	\$ 180.02
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 203.02



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

D (D E (
Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
June 12, 2023	Name of Event	NSCC Kingstec Campus Convocation	
	Location of Event	Kentville, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Breakfast and Lunch per diems	\$ 23.00
	Mileage Rate - (\$0.5770)	208	\$ 120.02
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 143.02



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event	Cubicat (Du Frant)	Information	Cont
(Month, Day, Year)	Subject (By Event)	Information	Cost
June 15, 2023	Name of Event	Tour of Centre for Collaorative Clinical Learning and Research Facilities	
	Location of Event	Halifax, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	12.3	\$ 7.10
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 7.10



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
			CUSI
June 19, 2023	Name of Event	Atlantic Economic Forum	
	Location of Event	Antigonish, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location	St. Francis Xavier Univeristy, Antigonish, NS	
	Hotel Rate Per Night x Number of Nights	\$138/night x 1	\$ 138.00
	Hotel Incidentials - (\$5.00 per night)	1	\$ 5.00
	Business Meal(s)	Breakfast per diem	\$ 8.00
	Mileage Rate - (\$0.5770)	422	\$ 243.49
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		·
		TOTAL PER EVENT	\$ 394.49



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event				
(Month, Day, Year)	Subject (By Event)	Information	C	ost
		Announcement re future of sport,		
June 29, 2023	Name of Event	business and health education at		
		Saint Mary's University		
	Location of Event	Halifax, NS		
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	24	\$	13.85
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			-
		TOTAL PER EVENT	\$	13.85



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
July 4, 2023	Name of Event	Reaching New Heights at Spaceport	
July 4, 2023	Name of Event	Nova Scotia	
	Location of Event	Canso, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location	Maritime Inn, Antigonish, NS	
	Hotel Rate Per Night x Number of Nights	\$182.85/night x 1	\$ 182.85
	Hotel Incidentials - (\$5.00 per night)	1	\$ 5.00
	Business Meal(s)	Dinner per diem	\$ 20.00
	Mileage Rate - (\$0.5770)	316	\$ 182.33
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 390.18



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
July 5, 2023	Name of Event	Visit Everwind Fuels	
	Location of Event	Port Hawkesbury, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)	Lunch and Dinner per diems	\$ 35.00
	Mileage Rate - (\$0.5770)	392	\$ 226.18
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 261.18



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
(MOIIIII, Day, Year)	Subject (by Event)		 วบรเ
July 7, 2023	Name of Event	Study and Stay Capstone Program Graduation Ceremony	
	Location of Event	Halifax, NS	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)	24	\$ 13.85
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 13.85



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event	Subject (Dy Frent)	Indown ation	04
(Month, Day, Year)	Subject (By Event)	Information	Cost
July 10, 2023	Name of Event	121st ACDME / 111th CMEC Meetings	
	Location of Event	Saskatoon, SK	
	Air Destination - (From-To-Return)	Halifax, NS	
	Air Fare Including All Taxes		\$ 2,104.51
	Name of Hotel & Location	Hilton Garden Inn, Saskatoon, SK	
	Hotel Rate Per Night x Number of Nights	\$158.92/night x 2	\$ 317.84
	Hotel Incidentials - (\$5.00 per night)	2	\$ 10.00
	Business Meal(s)	Jul. 9 - Lunch and Supper per diems Jul. 11 - Full day per diems	\$ 78.00
	Mileage Rate - (\$0.5770)		
	Parking Rate		
	Taxi Rate		\$ 120.54
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 2,630.89



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

5 . 5			
Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
August 2023 (NIL)	Name of Event		
	Location of Event		
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)		
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ -



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
September 2023 (NIL)	Name of Event		
	Location of Event		
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)		
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ -



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
October 2023 (NIL)	Name of Event		
	Location of Event		
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)		
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ -



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
November 2023 (NIL)	Name of Event		
	Location of Event		
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)		
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ -



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event				
(Month, Day, Year)	Subject (By Event)	Information	Cost	
December 2023 (NIL)	Name of Event			
	Location of Event			
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)			
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$ -	



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	(Cost
January 8, 2024	Name of Event	Eastern Shore School District High School		
	Location of Event			
	Air Destination - (From-To-Return)			
	Air Fare Including All Taxes			
	Name of Hotel & Location			
	Hotel Rate Per Night x Number of Nights			
	Hotel Incidentials - (\$5.00 per night)			
	Business Meal(s)			
	Mileage Rate - (\$0.5770)	86 km	\$	49.62
	Parking Rate			
	Taxi Rate			
	Other Miscellaneous Expenditures			
		TOTAL PER EVENT	\$	49.62



Province of Nova Scotia - Ministerial Summary of Expenses

Fiscal Year April 1, 2023 - March 31, 2024 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event			
(Month, Day, Year)	Subject (By Event)	Information	Cost
February 2024 (NIL)	Name of Event		
	Location of Event		
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentials - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - (\$0.5770)		
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ -